### Some Applications of the q-Mellin Transform

Kamel Brahim\*

Institut Préparatoire aux Études d'Ingénieur, Tunis, Tunisia

and

Rim Ouanes<sup> $\dagger$ </sup>

Ecole Nationale d'Ingénieurs de Tunis, Tunisia

Received February 20, 2009, Accepted August 15, 2009.

#### Abstract

In this paper we show that the q-integral transforms can be used to solve some q-differential difference equation.

#### 1. Introduction

It is well known that one of the purposes of integral transforms like Fourier, Laplace and Mellin is to solve differential equations like the Heat equation the wave equation and some EDDs.

Even though in [1] the author solves some q-differential equations using the Mellin transform, it seems more appropriate to use the q-Mellin transform, that is why in this paper the q-Mellin transform studied in [3] is used to solve some analogous Heat and Wave equations.

This paper is organized as follows :

<sup>\*</sup>Corresponding author. E-mail: Kamel.Brahim@ipeit.rnu.tn †E-mail: rym-ouanes@yahoo.com

- In section 2 we present some preliminary results and notations.
- in sections 3, 4 and 5 we solve respectively the q-diffution, the q-wave and the  $\partial_q$ -diffusion equations using the q-Mellin transform.

#### 2. Notations and Preliminaries

We take q in [0, 1] throughout this paper.

In this section we provide a summary of the mathematical notations and definitions used in this papaer (see [4] and [6]).

Let's take  $a \in \mathbb{C}$ , we have

$$[a]_q = \frac{1 - q^a}{1 - q}.$$

The q-derivative  $D_q f$ , of a function f is given by

$$\begin{cases} (D_q f)(x) = \frac{f(q^{-1}x) - f(x)}{(1-q)x}, & \text{for } x \neq 0\\ (D_q f)(0) = q^{-1} f'(0), & \text{when } f'(0) \text{ exists.} \end{cases}$$
(1)

The q-Jackson integrals are defined by (see [5])

$$\int_{0}^{a} f(x)d_{q}x = (1-q)a\sum_{n=0}^{\infty} f(aq^{n})q^{n},$$
(2)

$$\int_{0}^{\infty} f(x)d_{q}x = (1-q)\sum_{n=-\infty}^{+\infty} f(q^{n})q^{n},$$
(3)

$$\int_{-\infty}^{\infty} f(x)d_q x = (1-q)\sum_{n=-\infty}^{\infty} \{f(q^n) + f(-q^n)\} q^n.$$
(4)

Using these q-integrals, we set for p > 0,

$$L_{q}^{p}(\mathbb{R}_{q}) = \left\{ f : \|f\|_{p,q} = \left( \int_{-\infty}^{\infty} |f(x)|^{p} d_{q}x \right)^{\frac{1}{p}} < \infty. \right\}$$
(5)

A q-analogue of the exponential function is given by [4]

$$E_q^z = \sum_{n=0}^{\infty} \frac{q^{\frac{n(n-1)}{2}} z^n}{[n]_q!}.$$
(6)

The q-sine and the q-cosine associated to the q-exponential  $E_q^z$ , are given by

$$Sin_q(x) = \frac{E_q^{ix} - E_q^{-ix}}{2i}, \quad Cos_q(x) = \frac{E_q^{ix} + E_q^{-ix}}{2}.$$
 (7)

Jackson [5] defined the q-analogue of the Gamma function by

$$\Gamma_q(x) = \frac{(q;q)_{\infty}}{(q^x;q)_{\infty}} (1-q)^{1-x}, \qquad x \neq 0, -1, -2, \dots$$
(8)

which have the following properties :

$$\Gamma_q(x+1) = [x]_q \Gamma_q(x), \quad \Gamma_q(1) = 1 \text{ and } \lim_{q \to 1^-} \Gamma_q(x) = \Gamma(x), \ \Re(x) > 0.$$
(9)

It has the q-integral representations [2]

$$\Gamma_q(s) = \int_0^{\frac{1}{1-q}} t^{s-1} E_q^{-qt} d_q t.$$
(10)

When  $\frac{\log(1-q)}{\log(q)} \in \mathbb{Z}$ , we have

$$\Gamma_q(s) = \int_0^\infty t^{s-1} E_q^{-qt} d_q t.$$
(11)

The q-Mellin transform of a suitable function f on  $\mathbb{R}_{q,+}$  is given by [3]

$$M_q(f)(s) = \int_0^{+\infty} t^{s-1} f(t) d_q t.$$
 (12)

The inversion formula for the q-Mellin transform is given by [3]

$$\forall x \in \mathbb{R}_{q,+}, \quad f(x) = \frac{\log q}{2i\pi(1-q)} \int_{c-\frac{i\pi}{\log q}}^{c+\frac{i\pi}{\log q}} M_q(f)(s) x^{-s} ds. \tag{13}$$

In [7, 8] Rubin defined a q-analogue of differential operators by

$$\partial_q(f)(z) = \frac{f(q^{-1}z) + f(-q^{-1}z) - f(qz) + f(-qz) - 2f(-z)}{2(1-q)z}.$$
 (14)

We notice that if f is differentiable at z, then

$$\lim_{q \to 1} \partial_q(f)(z) = f'(z)$$

The operator  $\partial_q$  is closely related to the classical q-derivative operators studied in [4, 6].

The q-trigonometric functions q-cosine and q-sine are defined by (see [7, 8]):

$$\cos(x;q^2) = \sum_{n=0}^{\infty} (-1)^n q^{n(n+1)} \frac{x^{2n}}{[2n]_q!}$$
(15)

and

$$\sin(x;q^2) = \sum_{n=0}^{\infty} (-1)^n q^{n(n+1)} \frac{x^{2n+1}}{[2n+1]_q!}.$$
(16)

These functions induce a  $\partial_q$ -adapted  $q^2$ -analogue exponential function by

$$e(z;q^2) = \cos(-iz;q^2) + i\sin(-iz;q^2).$$
(17)

In [8], R. L. Rubin defines the  $q^2$ -analogue Fourier transform by

$$\widehat{f}(x;q^2) = \mathcal{F}_q(f)(x) = K \int_{-\infty}^{\infty} f(t)e(-itx;q^2)d_qt, \quad x \in \widetilde{\mathbb{R}}_q,$$
(18)

where

$$K = \frac{(q;q^2)_{\infty}}{2(q^2;q^2)_{\infty}(1-q)^{1/2}}.$$

The following conditions

$$\begin{cases} q \to 1\\ \frac{Log(1-q)}{Log(q)} \in 2\mathbb{Z} \end{cases}$$
(19)

gives, at least formally, the classical Fourier transform (see [6]).

In this paper, we assume that  $\frac{Log(1-q)}{Log(q)} \in 2\mathbb{Z}$ . It has been shown in ([7] and [8]) that the  $q^2$ -analogue Fourier transform  $\mathcal{F}_q$  verifies the following properties:

(1) If f(u) and  $uf(u) \in L^1_q(\mathbb{R}_q)$ , then

$$\partial_q(\mathcal{F}_q f)(x) = \mathcal{F}_q(-iuf(u))(x)$$

338

(2) If f and  $\partial_q f \in L^1_q(\mathbb{R}_q)$ , then

$$\mathcal{F}_q(\partial_q f)(x) = ix \mathcal{F}_q(f)(x). \tag{20}$$

(3) For  $f \in L^2_q(\mathbb{R}_q)$ , we have

$$f(t) = K \int_{-\infty}^{\infty} \mathcal{F}_q(f)(x) e(itx; q^2) d_q x , \, \forall t \in \mathbb{R}_q.$$
(21)

## 3. q-diffusion Equation

Let's consider the following q-diffusion equation

$$D_{q,t}u(x,t) = \frac{\partial^2}{\partial x^2}u(x,t) , x \in ]-\infty, +\infty[ \text{ and } t \in \mathbb{R}_{q,+}$$
(22)

with the initial condition

$$u(x,0) = f(x).$$
 (23)

We assume that  $f \in L^1$ ,  $\hat{f} \in L^1$ , where

$$\hat{h}(y) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{+\infty} h(x) e^{iyx} dx.$$

By taking a Fourier transform in x and a q-Mellin transform in t, the equation (22) becomes

$$[s-1]_q U(\xi, s-1) = \xi^2 U(\xi, s).$$
(24)

A solution of the equation (24) is given by [1]

$$U(\xi, s) = A(\xi)\xi^{-2s}\Gamma_q(s), \qquad (25)$$

where  $A(\xi)$  is a function of  $\xi$  only.

According to the relation (11), the inversion  $q\mbox{-Mellin}$  transform of  $\xi^{-2s}\Gamma_q(s)$  is

$$\frac{\log q}{2i\pi(1-q)} \int_{c-i\frac{\pi}{\log q}}^{c+i\frac{\pi}{\log q}} \xi^{-2s} \Gamma_q(s) t^{-s} ds = \frac{\log q}{2i\pi(1-q)} \int_{c-i\frac{\pi}{\log q}}^{c+i\frac{\pi}{\log q}} \Gamma_q(s) (\xi^2 t)^{-s} ds = E_q^{-q\xi^2 t}$$
(26)

it follows that

$$u(x,t) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{+\infty} A(\xi) E_q^{-q\xi^2 t} e^{-i\xi x} d\xi.$$
 (27)

For t = 0, we get

$$u(x,0) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{+\infty} A(\xi) e^{-i\xi x} d\xi = f(x)$$
(28)

then

$$A(\xi) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{+\infty} f(x) e^{i\xi x} dx = \hat{f}(\xi).$$
 (29)

Therefore, a solution of (22) is

$$u(x,t) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{+\infty} \hat{f}(\xi) E_q^{-q\xi^2 t} e^{-i\xi x} d\xi.$$
(30)

Conversely, from the relation  $D_{q,t}E_q^{\lambda t} = \frac{\lambda}{q}E_q^{\lambda t}$ , we conclude that (30) satisfies (22).

**Remark.** The equation (28) is well justified as  $\hat{f} \in L^1$ .

## 4. *q*-wave Equation

We consider now the following q-wave Equation

$$(D_{q,t})^2 u(x,t) = \frac{\partial^2}{\partial x^2} u(x,t) , x \in ] -\infty, +\infty[ \text{ and } t \in \mathbb{R}_{q,+}$$
(31)

with the initial conditions

$$u(x,0) = f(x), \quad D_{q,t}u(x,0) = g(x).$$

We assume the following conditions

$$\begin{cases} f, g \in L^1 \\ \hat{f} \text{ and } \hat{g} \text{ have compact supports.} \end{cases}$$
(32)

By applying the Fourier and the q-Mellin transform, we obtain

$$[s-1]_q[s-2]_q U(\xi, s-2) = -\xi^2 U(\xi, s).$$
(33)

340

This is a solution of (33) [1]

$$U(\xi, s) = \left[A(\xi)(-i\xi)^{-s} + B(\xi)(i\xi)^{-s}\right]\Gamma_q(s)$$
(34)

where  $A(\xi)$  and  $B(\xi)$  are functions of  $\xi$  only.

iFrom the q-Mellin inversion formula, we get

$$\hat{u}(\xi,t) = \left[A(\xi)E_q^{iq\xi t} + B(\xi)E_q^{-i\xi t}\right],\tag{35}$$

where  $\hat{u}(\xi, t)$  is the Fourier transform of u(x, t) with respect to x.

It follows from the relations (7) that

$$\hat{u}(\xi,t) = C(\xi)Cos_q(q\xi t) + D(\xi)Sin_q(q\xi t)$$
(36)

where  $C(\xi)$  and  $D(\xi)$  are functions of  $\xi$ .

Now, the inverse-Fourier transform of (36) gives

$$u(x,t) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{+\infty} \left( C(\xi) Cos_q(q\xi t) + D(\xi) Sin_q(q\xi t) \right) e^{-i\xi x} d\xi.$$
(37)

By taking t = 0 in (37), we get  $C(\xi) = \hat{f}(\xi)$ . On the other hand, by using the relations

$$D_{q,t}Sin_q(\lambda t) = \frac{\lambda}{q}Cos_q(\lambda t),$$

and

$$D_{q,t}Cos_q(\lambda t) = -\frac{\lambda}{q}Sin_q(\lambda t)$$

we get

$$\hat{g}(\xi) = D(\xi)\xi. \tag{38}$$

Therefore the final solution of (31) is

$$u(x,t) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{+\infty} \left( \hat{f}(\xi) Cos_q(q\xi t) + \frac{\hat{g}(\xi)}{\xi} Sin_q(q\xi t) \right) e^{-i\xi x} d\xi.$$
(39)

**Remark.** The same as in section 2, when the conditions (32) are true, we can interchange the limit  $(t \rightarrow 0)$  and the integral by applying the dominated convergence theorem.

341

# **5.** $\partial_q$ -diffusion Equation

In this section, we study the following q-equation by using the  $\partial_q$ -operator introduced by Rubin [8, 7].

$$D_{q,t}u(x,t) = (\partial_{q,x})^2 u(x,t) , x \in \mathbb{R}_q , t \in \mathbb{R}_{q,+}$$

$$\tag{40}$$

with the initial condition

$$u(x,0) = f(x), f \in L^2_q(\mathbb{R}_q).$$
 (41)

By taking a  $q^2$ -Fourier transform respecting to x and a q-Mellin transform respecting to t, we get

$$[s-1]_q U(\xi, s-1) = \xi^2 U(\xi, s), \tag{42}$$

thus

$$U(\xi, s) = A(\xi)\xi^{-2s}\Gamma_q(s), \tag{43}$$

where  $A(\xi)$  is a function of  $\xi$  only.

According to the equation (26) the inversion q-Mellin transform of  $\xi^{-2s}\Gamma_q(s)$ is  $E_q^{-q\xi^2t}$ .

Then

$$u(x,t) = K \int_{-\infty}^{+\infty} A(\xi) E_q^{-q\xi^2 t} e(-i\xi x, q^2) d_q \xi.$$
(44)

For t = 0, we obtain

$$u(x,0) = K \int_{-\infty}^{+\infty} A(\xi) e(-i\xi x, q^2) d_q \xi = f(x),$$
(45)

 $\mathbf{SO}$ 

$$A(\xi) = K \int_{-\infty}^{+\infty} f(x)e(-i\xi x, q^2)d_q x = \hat{f}(\xi, q^2),$$
(46)

and the final solution of (40) is

$$u(x,t) = K \int_{-\infty}^{+\infty} \hat{f}(\xi, q^2) E_q^{-q\xi^2 t} e(-i\xi x, q^2) d_q \xi.$$
(47)

Conversely, from the relation  $D_{q,t}E_q^{\lambda t} = \frac{\lambda}{q}E_q^{\lambda t}$ , we conclude that (47) satisfies (40).

Acknowledgement. The authors would like to thank Professor Ahmed Fitouhi for his valuable suggestions and helpful remarks.

#### References

- [1] Choon-Lin Ho, On the use of Mellin transform to a class of q-difference -differential equations, *Physics Letters A*, **268**(2000), 217-223.
- [2] A. De Sole and V. G. Kac, On integral representations of a q-gamma and a q-beta functions, Atti Accad. Naz. Lincei CI. Sci. Fis. Mat. Natur. Rend. Lincei(9) Mat. App., 16(2005), 11-29
- [3] A. Fitouhi, N. Bettaibi, and K. Brahim, The Mellin transform in Quantum Calculus, *Constructive Approximation*, **23** no.3 (2006), 305-323.
- [4] G. Gasper and M. Rahman, Basic Hypergeometric Series, 2nd Edition, (2004), *Encyclopedia of Mathematics and Its Applications*, 96, Cambridge University Press, Cambridge.
- [5] F. H. Jackson, On q-Definite Integrals, Quarterly Journal of Pure and Applied Mathematics, 41(1910), 193-203.
- [6] V. G. Kac and P. Cheung, *Quantum Calculus*, Universitext, Springer-Verlag, New York, 2002.
- [7] Richard L. Rubin, A q<sup>2</sup>-Analogue Operator for q<sup>2</sup>-analogue Fourier Analysis, J. Math. Analys. App., 212(1997), 571-582.
- [8] Richard L. Rubin, Duhamel Solutions of non-Homogenous q<sup>2</sup>-Analogue Wave Equations, Proc. of Amer. Math. Soc., 135 no.3 (2007), 777-785.